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Write a problem for each sentence. Then solve.
The Giants gained 8 yards and then lost 5 yards. 8 +5°% @S .
The temperature fell 6 degrees and then fell 5 more degrees. --5 =-\| dk,g reef
Marty lost 5 kilograms but then gained back 3. -St3--2
Mrs. Williams got paid $86 and then spent $40. +8- 40-4b
Mr. Lopez lost $3, but then he found $2 of it. -5+ 2= §l
The water level rose 11 cm and then foll 11 cm. +\-11=0
An airplane climbed 2000 meters, then climbed another + = (o]
1500 meters. 2000 s00= 3

Example:

The Jackets football team gained 9 yards on their first play. On the next three plays they
lost 4 yards, gained 3 yards and lost 3 yards. How did the team do altogether on these

four plays?
Problem: 9 + 44343 =5
Answer: They gained 5 ymrd.s. .

25)
The Raiders gained 2 yards lost 18 yards lost 2 yards and then gained 10 yards.
How did they do on these four plays? '

Problem: +7—\8 =1 +10 = -9
Answer: They losy © yardd.

26)
James was playing a game with his friends. He won 35 points Then he lost 15,
lost 40 and won 55. How did he come out? ‘

Problem: +3G - |G - 4D +6,6 =435
Answer: -JNY\QJ Wb 35 pOinﬂ- s .



